Stony Brook University MAT 126 Calculus B
Dept. of Mathematics Sept. 30, 2015

Please show all of your work.

1) Approximate the area between the graph of y = x*> +6 and the x-axis, on the
interval [~2,3] using n=5 :
N=S meads AX=73 =
a)  Left Endpoint Rectangles
LeET EVDPOINT MernS WE tAve

10 EVALVATE AT -2 -0z
we tHue

1(£0-2)+ P-0 R ROHFE)
= o+ F+brd*D

= 4D

3+2 l

Answer (5 points)

40

b)  Right Endpoint Rectangles, So WE EVALOATE AT —()O/ Ly 2, 3

L0006+ RO+ PE)+RE) )
-~ 1 4+L*r7 HIOHIS

—

{\f

i3

Answer (5 points)

s




Stony Brook University MAT 126 Calculus B

Dept. of Mathematics Sept. 30, 2015
Please show all of your work.

3 P 3 >
2) J;(x +6)dx = = X + [x 5

=(T+13) - (3 -2)

>3
~ Cf-{—lg +§-+lz

(25
3

Answer (10 points)

(25 2
ERRGRE

3) If f(x)=[(e*+zx)dx and f(0)=2,find f(x).
PO = e +Ex" +C

C C=
Siwece flo)=2 = ‘3 +C = 1F

Answer (10 points)

3?(><)~6+Tr2+(
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Please show all of your work.

.9 d 3t
4) Fmda j e3dt

COsx

BY THe FOODAMETAL THEDREM OF CALCULUT,

205 K
WE  GET 390K ex — € (=50
S (S
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d | ae|3" d (17 L
— | =€ 3 = 100 3 3
CLX 3 005X dX 3eunx + s echSX
= COD)( - e )
S AUE .- .

Answer (10 points)

Bgln)( BCDSX
cosx:e 1— %(nX‘e

A
5) de35—2x2 = g X(S-"sz) A'X

—

dw = —fxdx, =0 g
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Please show all of your work.

6) IxsinSxdxz
(WTEGRATE BY PARTS OUTH
u=x dv= snSxdx

{
So \da=dx V = Xsmsxc&x: — 209

THeN
— \ P + C
j «om(@)dx = — zxeos(s0) +§§¢09(5x)clx

C
= ~Lyeos(s + g om0 +
o e
. d <—1X@S(gx) ¢ Losw(s0
g_(___eme dx\ > | pesooct
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= (*i- cos(sx) +XOW
S
’\/q«//uca_

X sn Sx _

gx> 4—‘5; c_o&(SX>

1

Answer (10 points)

NéXCOS(Q‘X) + ;_‘;-Sm(gﬁ +C
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Please show all of your work.

1+2x _L__ <
’ I o 3 sz \W:;(z w= \"5(7' so AL&,"—'—"ZXAX
LET -
-2
:—arc%m(ﬂ _ S((ﬂ N
2 _ X e
= arcom(yy)y — 2w = QiconX — 2
-‘/2
Q/H'a/ysae { ‘Z.% ( _ ’).) o(-—Zx)
- = — e A2L\I-%
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- = 1= + Z2X = —iz_x_ \/A\,"
NI S '
Answer (10 points)
Qresinx - 2 \Vi-x2 +c
8) [xinrde=

! BY Pﬂﬂﬁ) VO LTH \ w = \>y\x C\/V = de

Au= —‘—Ax V= Lix?
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= e s_.( X l (M Zf} - Tf.e Z}
Answer (10 points)

L, 3
¥ty
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2
2 can? vl 2 | — Swn K)
9) J‘sec X seg xsin’x , Secs x( dk
cos® x o2 X
NfVeq 2x)
ewdeel | = § sedx (e 4
Stex +Cosx =| Cos?x
cos‘zx: (—-5102)(

= S S(:’,C.»zx AX

R Len x + C

i

d _ 2 5
Checl: Iy fom x = sec X

Answer (10 points)

tanx +C
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Please show all of your work.

10) e*sin(2x)dx =
| (roe Y2 LeT =€ dv=sm
BN PARTS A = eXdx v =5eos2x
‘ X
j &\( 51"1('2><>Clx - ,.ji e cos (2&) 4—58 6,0052>< dx

LeT u=€" c\v:CD&ZXC(*

du=Sdy  vE Landx
36¥8M(2><><§¥ = -'2(* 5(2x) *&E o ow(lx) ~ ’% Sin 2x C&XB

’Zxék
~ o \ 2x - 1 6, 3
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50 4§ o

= excost +7tL~ gxétV)@K) T

+ —t; QX SW\ZX)

Answer (10 points)

X smn2x  pe” coslzx)
— +C
= >




